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Al 2] S-AEk7}s a2 K=}
2. A7 87 560 0 560 ;Z;]fj)““ 743t A71% 140,004 560,000
q o odaE7} s o
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5. 54 AF 9 -2 vl 900 0 goo| (B H T F AL ST A2E 500,000 900,000
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177183 200 1,200 -1,000| =4p7] =¥ Fte] ®7]=  -1,000,0009= -1,000,000
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6. A5 o) 3] - 2,500 2,500 0
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13 gl 1 2017-08-28




20178PAE A& o AHH A A

F7418) () A9
i NI IR 42712 (Q)
A% AvgE  ansAue | AE | dda SR

1.EAFgH| 7,000 7,000 0
2. 29283 1,260 1,260 0
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1.7 16,900 15,900 1,000
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(X*éégzd)%i}iﬂ% g5 &9 710,000 1,420,000
géf;ii])j}o}*é% Z2a3 9 50,000 150,000
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